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SN B C(BH) - MEAY - HES 01l &k o8 91 o H D=2
42,167,076 37,461,615 4,705,461
erierimaa 2 22,550,000 28,468,000 A5,918,000
< 12,617,076 8,993,615 3,603,461
7 7,000,000 0 7,000,000
A Y= AXRA 9,342,686 7,931,655 1,411,031
2 50,000 5,968, 000 £5,918,000
< 2,292,686 1,963,655 329,031
7 7,000,000 0 7,000,000
9,342,686 7,931,655 1,411,031
SO 2 50,000 5,968, 000 £5,918,000
< 2,292,686 1,963,655 329,031
7 7,000,000 0 7,000,000
0 838,000 838,000
QRI|Y Y} XU BE 2 0 718,000 A718,000
< 0 120,000 £120,000
0 838,000 838,000
403 RIS KH=0| & 2 0 718,000 A718,000
= 0 120,000 A 120,000
01 RXSHXZEE 0 838,000 838,000
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2 0 718,000 A718,000
< 0 120,000 £120,000
8,250,000 6,066,655 2,183,345
SXE =0l EXNKSY XN 2 0 200,000 2,200,000
< 1,250,000 866,655 383,345
T 7,000,000 0 7,000,000
8,250,000 6,066,655 2,183,345
N 2 0 5,200,000 A5,200,000
403 RXIEAIS A+ =01 A < 1,250,000 866,655 383,345
7 7,000,000 0 7,000,000
0 RXSAXZEE 8,250,000 6,066,655 2,183,345
OBXE ARSI =4 8,250,000 6,066,655 2,183,345
2 0 5,200,000 A5,200,000
= 1,250,000 866,655 383,345
7 7,000,000 0 7,000,000
=X9X 28 2 25 S4 395,000 400,000 A5,000
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05 BlRtgierz 395,000 400,000 A5,000
o= A5,000 0 A5,000
SRSX L JAKE B 464,286 393,600 70,686
201 2t ot 70,800 73,000 £2,200
01 At el 67,380 69,200 A1,820
Ol E-EL £6,920 0 £6,920
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O X S FMHESAL A22 5,100 0 5,100
02 2324l 3,420 3,800 A 380
ouazE 380 0 A 380
202 Oddl 236,040 145,600 90,440
01 =UWoI 46,040 45,600 440
OJIgsX g3 50,600 45,600 5,000
Oolard A4,560 0 A4,560
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Oulat= 26,500 0 26,500
303 ZAa3 80,000 100,000 220,000
01 Za=3 80,000 100,000 A20,000
oolard 20,000 0 A20,000
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01 XXISXMA2E X 9,946 0 9,946
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405 XHoHE S| 9,000 10,000 21,000
01 AL ESFHSHI 9,000 10,000 A 1,000
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iy 22,500,000 22,500,000 0
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32,300,000 29,250,000 3,050,000
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== 9,800,000 6,750,000 3,050,000
32,300,000 29,250,000 3,050,000
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= 9,800,000 6,750,000 3,050,000
01 XXSHMA2E X 32,300,000 29,250,000 3,050,000
OJ1g01d 223 32,300,000 29,250,000 3,050,000
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= 9,800,000 6,750,000 3,050,000
JHENNHA S E 270,000 200,000 70,000
201 2er2gd| 180,000 200,000 A 20,000
01 AtS2teltl 180,000 200,000 A20,000
onlarzE A 20,000 0 A 20,000
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